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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Winter Examination-2018 

 

Subject Name : Design of Steel Structures 
 

Subject Code : 2TE06DSS1    Branch: Diploma (Civil)   

    

Semester : 6         Date : 19/10/2018   Time : 02:30 To 05:30   Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 
(5) IS :800-2007 and steel table is permitted. 

 
Q-1  Attempt the following questions: 

 
(14)  

 a)  Choose the correct option  

a) A > My/fr²         b) A = My/fr²         c) A < My/fr²         d) A = 1 / My/fr²  

(1) 

 b)  For the buildings having a low permeability, the internal wind pressure acting 

normal to the wall and roof surfaces is taken as ______ p. 

a) 0          b) ±0.2        c) ±0.3         d) ±0.4 

Where p is basic wind pressure 

(1) 

 c)  The minimum pitch of rivet holes of diameter d should not be less than 

a) 1.5 d        b) 2.5 d       c) 3.5 d         d) 4.5 d  

(1) 

 d)  Intermediate vertical stiffeners in a plate girder need be provided if the depth of 

web exceeds 

a) 0.85t         b) 8.5t         c) 85t          d) 850t 

Where t is thickness of web  

(1) 

 e)  According to IS: 800-1962 the permissible bending stress in steel slab plates, is 

a) 1.890 kg/cm2         b) 18.90 kg/cm2         c)  189.0 kg/cm2       d) 1890 kg/cm2 

(1) 

 f)  In case of timber structure simple bending moment can be applied for rectangular 

structure up to________ mm depth 

a) 300          b) 200        c) 100         d) 50 

(1) 

 g)  According to IS: 800-1962, the coefficient of expansion of steel per degree 

centigrade per unit length, is taken as 

a) 0.000012          b) 0.00012         c) 0.0012          d) 0.012  

(1) 

 h)  Diameter of a rivet hole is made larger than the diameter of the rivet by________ 

mm for rivet diameter over 25 mm 

a) 1        b) 2        c) 3         d) 4  

(1) 

 i)  Maximum pitch of rivets, used in steel stacks, is limited to__________ t. 

a) 5         b) 10        c) 15         d) 20 

(1) 

 j)  The load on a lintel is assumed as uniformly distributed if the height of the 

masonry above it, is up to a height of_____________ times the effective span 

a) 1.25         b) 2.25        c) 3.25       d) 4.25  

(1) 
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 k)  The slenderness ratio of a column supported throughout its length by a masonry 

wall is 

a) 0       b) 10          c) 20            d) 30 

(1) 

 l)  A Specific Gravity of steel is _____ 

a) 7                         b) 7.5                       c) 8                            d) 8.5 

(1) 

 m)  Effective length of a column effectively held in position and restrained in 

direction at both ends, is 

a)  L        b) 0.67L        c) 0.77L       d) 0.87L 

(1) 

 n)  Perforated cover plates are particularly suitable for built up sections consisting of 

a) two angle box section                   b) three angle box section 

c) four angle box section                d) All of the above 

(1) 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 a) What are the advantages of bolted connection? (5) 

 
b) 

Design a steel column to carry factored axial load of 1500 kN. The length is 3.6 

m and hinged at both ends. Assume fy= 250 Mpa.  

(9) 

    

Q-3  Attempt all questions (14) 

 a) State advantages of limit state design with respect to steel structures (5) 

 

b) 

 

Design a single lacing system for a column composed of 2 ISMC 300@ 35.8 

kg/m placed back to back at clear spacing of 200 mm. axial factored load on 

column is 1500 kN. Effective length of column is 5.0m. 

 

(9) 

    

Q-4  Attempt all questions (14) 

 
a) 

Explain briefly the serviceability requirements of structural elements to be 

considered in the limit state design. 

(5) 

 

b) 

 

A plate of 230 x 10 mm is connected to gusset plate by 20mm bolts using 

1) Chain bolting 

2) Zigzag bolting 

Determine minimum net area of plates. 

 

(9) 

    

Q-5  Attempt all questions (14) 

 a) List the different types of bolts (5) 

 

b) 

 

Calculate the compressive strength of a single angle strut ISA 100 x 75 x 10 mm 

with center to center length of 1.5 m. angle is loaded through one leg and ends are 

fixed. Consider 1 bolt at the each end. Take fy= 250 Mpa. 

 

(9) 

    

Q-6  Attempt all questions (14) 

 a) Explain types of tension member. (5) 

 

b) 

Two plates 80mm wide and 12mm and 20mm thick are connected by lap joint to 

resist design tensile load of 70KN. Design a lap joint using M16 bolts of grade 

4.6 and grade 410 plates. 

(9) 
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Q-7  Attempt all questions (14) 

 a) Write in brief with neat sketch:- Types of bolted joints. (5) 

 

b) 

 

A single bolted double cover butt joint is used to connect two plates of 6mm 

thickness. Considering the bolts of 20mm diameter at 50mm pitch, calculate the 

efficiency of the joint. Use 410 Mpa plates and 4.6 grade bolts.  

 

(9) 

    

Q-8  Attempt all questions (14) 

 a) Write advantages and disadvantages of Welding. (5) 

 

b) 

 

A T-section is attached to the flange of a column by a 6 bolts of 16 mm diameter 

of 4.6 grades. Assume that the T-section and the column are capable of resisting 

the load. Check the adequacy of the bolts.  

 

(9) 

    
 

 

 

 

 

 

  

Q-1  Attempt the following questions: 

 
(14)  

 a)  સાચ ુકથન ઩સદં કરો.  
a) A > My/fr²         b) A = My/fr²         c) A < My/fr²         d) A = 1 / My/fr²  

(1) 

 b)  ઓછી ઩ેર્મીઆફી઱ીટી ળાડી ની બફલ્ડીંગ ર્માટે,દીળા઱ અને રૂપ ઩ર ઱ગતા આંતરરક વળિંડ 
દફાણ ________p ઱ેળાય. 
a) 0          b) ±0.2        c) ±0.3         d) ±0.4 

Where p is basic wind pressure 

(1) 

 c)  રીળેટ હો઱ ર્મા ં઩ીચ કર્મસેકર્મ ________d કરતા ઓછ ંના હોવુ ંજોઈએ. 
a) 1.5 d        b) 2.5 d       c) 3.5 d         d) 4.5 d  

(1) 

 d)  પ્઱ેટ ગીરડર ર્મા ંઉધ્ળ સ્તીફ્નેસ મકુળી ઩ડ ેજયારે ળેફ ની ઊંડાઈ _____ કરતા ળધે. 
a) 0.85t         b) 8.5t         c) 85t          d) 850t 

t એટ઱ે ળેફ ની જાડાઈ 

(1) 

 e)  IS: 800-1962 પ્રર્માણે સ્ટી઱ ના સ્઱ેફ પ્઱ેટ ર્માટે ઩રળાનગી આ઩ે઱ ફેન્ડિંગ સ્રેસ ______. 
a) 1.890 kg/cm2         b) 18.90 kg/cm2         c)  189.0 kg/cm2       d) 1890 kg/cm2 

(1) 

 f)  ઱ાકડાના ના ફાધંકાર્મ ના રકસ્સા ર્મા,ં સાદંુ ફેન્ડિંગ ર્મોર્મે્ટ _________mm સધુી ઉ઩યોગી 
છે. 
a) 300          b) 200        c) 100         d) 50 

(1) 
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 g)  IS: 800-1962 પ્રર્માણે સ્ટી઱ નુ ં઩ીસ્તરણ ર્માટે નુ ંકોઈપીસીએ્ટ ______઱ેળાય. 
a) 0.000012          b) 0.00012         c) 0.0012          d) 0.012  

(1) 

 h)  વ્યાસ ૨૫ mm થી ળધારે ના રીળેટ ફોલ્ટ ના ર્માટેં વછદ્ર  ________mm ર્મોટંુ ફનાળાય. 
a) 1        b) 2        c) 3         d) 4  

 

(1) 

 i)  સ્ટી઱ સ્ટેક ર્મા ંરીળેટ નુ ં઩ીચ _______t સધુી હોય. 
a) 5         b) 10        c) 15         d) 20 

(1) 

 j)  ઱ી્ટે઱ ઉ઩ર ______ ની ઉચાઇ સધુી ના ળજન ને સર્માન વળતરરત ળજન ધારળાર્મા ં
આળે છે.  
a) 1.25         b) 2.25        c) 3.25       d) 4.25  

(1) 

 k)  દીળા઱ સાથે ટેકળે઱ કો઱ર્મ નો સે઱ેનડરેનેસ રેસીયો હોય _________ 

a) 0       b) 10          c) 20            d) 30 

(1) 

 l)  સ્ટી઱ ની ળીસીસ્ટ ઘનતા ______. 
a) 7                         b) 7.5                       c) 8                            d) 8.5 

(1) 

 m)  કો઱ર્મ ના ફનંે છેડા ઩ોતાની સ્સ્થવત ઩ર જકડાયે઱ અને પ્રવતફવંધત હોય ત્યારે અસરકારક 
઱ફંાઈ કેટ઱ી થાય.  
a)  L        b) 0.67L        c) 0.77L       d) 0.87L 

(1) 

 n)  વછરદ્રત કળર પ્઱ેટ _______ર્માટે ળધારે ઱ાયક છે. 
a) ફ ેએ્ગ઱ ફોક્સ સેક્સન ર્માટે                 b) ફ ેએ્ગ઱ ફોક્સ સેક્સન ર્માટે 

c) ફ ેએ્ગ઱ ફોક્સ સેક્સન ર્માટે              d) ઉ઩ર ના ફધાજ  

(1) 

 

Attempt any four questions from Q-2 to Q-8 

 

Q-2  Attempt all questions (14) 

 a) ફોલ્ટેડ જોડાલ ના પાયદા ઱ખો. (5) 

 b) એબિઅ઱ ઱ોડ ૧૫૦૦ kN , ઱ફંાઈ ૩.૬ ર્મી , fy= 250 Mpa અને ફને છેડા રહિંજડ છે તેળા 
સ્ટી઱ કો઱ર્મ ની ડીસાઈન કરો. 

(9) 

    

Q-3  Attempt all questions (14) 

 a) સ્ટી઱ સ્ત્રકચર ના સ઩ેિ ર્મા ં઱ીર્મીટ સ્ટેટ રડજાઇન ના પાયદા ઱ખો. (5) 

 b) વસિંગ઱ ઱ેવસિંગ સીસ્ટર્મ  ની ડીસા ઈન કરો જયારે કો઱ર્મ 2 ISMC 300@ 35.8 kg/m એક  
઩ાછલ એક છે ન અને તેર્મની ળચ્ચે ૨૦૦ mm ની જગ્યા છે. એબિઅ઱ ઱ોડ ૧૫૦૦ kN છે. 
કો઱ર્મ ની ઇપેક્ટીળ ઱ફંાઈ ૫ વર્મ છે. 

(9) 

    

Q-4  Attempt all questions (14) 

 a) ઱ીર્મીટ સ્ટેટ ડીસાઈન ર્મા ંસ્રકચર઱ ઈ઱ેર્મે્ટ ની સળીસીયાફી઱ીટી ની ચચાા કરો. (5) 

 b) એક પ્઱ેટ 230 x 10 mm ને ગસેટ પ્઱ેટ સાથે ૨૦ mm ના ફોલ્ટ થી જોડ઱ે છે. 
૧ ચેન ફોલ્ટીગ ૨. ળાકંુ ચકંુૂ ફોલ્ટીગ 

પ્઱ેટ નો કર્મસેકર્મ નેટ એરરયા ઴ોધો  

(9) 
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Q-5  Attempt all questions (14) 

 a) જુદા જુદા ફોલ્ટ વળ઴ે ઱ખો. (5) 

 b) ISA 100 x 75 x 10 mm અને ર્મધ્ય થી ર્મધ્ય ઱ફંાઈ ૧.૫ ર્મી છે ત્યારે વસિંગ઱ સ્ત્રટ ની 
કોમ્પ્પે્રસીળ સ્રે્થ ની ગણતરી કરો. છેડા રપિ છે અને એ્ગ઱ ને એક ઱ેગ ઩ર ઱ોડ આ઩ે઱ 
છે. ફને છેડા ઩ર એક ફોલ્ટ ધારો અને fy= 250 Mpa ઱ો. 

(9) 

    

Q-6  Attempt all questions (14) 

 a) ટે્સન ર્મેમ્પ્ફર ના પ્રકારો સર્મજાળો. (5) 

 b) ફ ેપ્઱ેટ ૮૦ mm ઩હોલાઈ અને ૧૨ mm તથા ૨૦ mm જાડાઈ ને ઱ે઩ જોઈ્ટ દ્વારા ૭૦ 
KN નો ટે્સાઈ઱ ઱ોડ ઱ેળા જોડ઱ે છે. M૧૬ ના ફોલ્ટ ક જેર્મનો ગ્રેડ ૪.૬ અને ૪૧૦ હોય 
નો ઉ઩યોગ કરી ઱ે઩ જોઈ્ટ ની ડીસાઈન કરો.  

(9) 

    

Q-7  Attempt all questions (14) 

 a) ફો઱ટેડ જોઈ્ટ ના પ્રકારો ને આકૃવત સાથે સર્મજાળો. (5) 

 b) વસિંગ઱ ફોલ્ટેડ ડફ઱ કળર ફટ જોઈ્ટ ને ફે ૬ mm જાડાઈ ના પ્઱ેટ સાથે જોડ઱ે છે.વ્યાસ 
૨૦ mm અને ઩ીચ ૫૦ mm ધારતા જોડાલ ની િર્મતા ની ચકાસણી કરો. 
410 Mpa અને ૪.૬ ગ્રેડ નો ફોલ્ટ ળા઩રો. 

(9) 

    

Q-8  Attempt all questions (14) 

 a) ળેલ્ડીંગ ના પાયદા અને ગેર પાયદા ઱ખો. (5) 

 b) એક T-સેક્સન ને ૬ ફોલ્ટ ૧૬ mm વ્યાસ અને ૪.૬ ગ્રેડ ળાલા ફ્઱ેંજ ધરાળતા કો઱ર્મ 
સાથે જોડ઱ે છે. ધારો કે T-સેક્સન અન ેકો઱ર્મ ઱ોડ ઱ેળા સક્છર્મ છે ત્યારે ફોલ્ટ ની 
ચકાસણી કરો, 

(9) 

    
 


